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‘Environment’ is derived from :
(A) Environ

(B) Environner

(C) Envirner

(D) Environr

World Environment Day celebrated on :
(A) 15th May

(B) 15th June

(C) 5thJune

(D) 1stJune

The word ‘Environment’ is originated from :
(A) Greek

(B) English

(C) Latin

(D) French

An Environment includes :

(A) Allliving organism

(B) Non-living objects

(C) Both living and non-living components

(D) According to need

What is the aim of Environmental

Education ?

(A) To increase public awareness
(B) Explore possible solution

(C) Protection of Environment

(D) All of these
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10.

Which of the following is a functional unit of

environment ?
(A) Biotic factors
(B) Ecosystem
(C) O,

(D) Sunlight

Ozone layer is directly disturbed by :
(A) Automobile

(B) Factories

(C) Supersonic jet

(D) None of these

MARB stands for :

(A) Man and Biosphere

(B) Man and Biotic Community
(C) Man and Bacteria

(D) Metal Acid Base

‘Biosphere’ refers to :

(A) Plants of the world

(B) Special plants

(C) Area accupied by living beings

(D) Plants of a particular areca

How many National Parks are there in
India ?

(A) 88

B) 97

(C) 98

(D) 106
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11.

12.

13.

14.

15.

Project Tiger was launched in which year ?
(A) 1950
(B) 1973
(C) 1970
(D) 2000

Ecology is the study of the relationship of :
(A) Living organism and Environment

(B) Soil and Water

(C) Man and Environment

(D) Man and Plants

Environmental study is a/an :
(A) Intradisciplinary studies
(B) Transdisciplinary studies
(C) Multidisciplinary studies
(D) Interdisciplinary studies

Organic components include :
(A) Carbohydrates

(B) Fats

(C) Proteins

(D) All of these

Which is called as autotrophs ?
(A) Green plants

(B) Animals

(C) Birds

(D) Man
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16.

17.

18.

19.

20.

World Forest Day is celebrated on :
(A) 20th March

(B) 21st March

(C) 5thJune

(D) 7th June

Carbon is present in the rocks as :
(A) Carbon elements

(B) Carbonate

(C) Carbohydrate

(D) Carbonic acid

‘Red Data Book’ provides data on :
(A) Redlions

(B) Red birds

(C) Red sandalwood

(D) Endangered plants and animals

Which part of the Himalayas is covered with

dense forest ?
(A) Southern
(B) Northern
(C) Eastern
(D) Western

Which of the following is the first National
Park of India ?

(A) Periyar
(B) Rajaji
(C) Jim Corbett
(D) Ranthambore
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21. Name the atmospheric layer closest to the

22,

23.

24.

25.

ground :

(A) Troposphere

(B) Mesosphere

(C) Thermosphere
(D) Stratosphere

In atmosphere oxygen consists of :
(A) 21%

B) 25%

(C) 0.03%

(D) 10%

The study of weather is called :
(A) Meteorology

(B) Climatology

(C) Aeronomy

(D) Aecrology

Who coined the word ‘Ecology’ ?
(A) Ernst Haeckel

(B) Charles Darwin

(C) G Mendel

(D) Robert Hooke

Who is known as the father of evolution ?
(A) Gregory Mendel

(B) Charles Darwin

(C) Albert Einstein

(D) None of these
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26.

27.

28.

29.

30.

Which is not a component of Human
Environment ?

(A) Land

(B) Family
(C) Religion
(D) Community

The provision of environmental protection in
the Constitution were made under :

(A) Article 5 A

(B) Article21 B

(C) Article 27 (B) (h)

(D) Article 48 A and Article 51 A(g)

The Forest (Conservation) Act was enacted
in the year :

(A) 1986
(B) 1974
(C) 1980
(D) 1972

The Air (Prevention and Control of Pollution)
Act was enacted in the year :

(A) 1980
(B) 1981
(C) 1996
(D) 1974

What is called for an organism that eats both
plants and animals ?

(A) Omnivore

(B) Carnivore

(C) Decomposers

(D) Herbivore
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31.

32.

33.

34.

3S.

Which form of sun’s energy is trapped by
the producers in the energy flow ?

(A) Light energy

(B) Chemical energy

(C) Wind energy

(D) Pressure energy

The 10% energy transfer law of food chain
was given by :

(A) Tansley

(B) Stanley

(C) Weismann

(D) Lindemann

Food chains are met within the :
(A) Sea

(B) Forest

(C) Cities

(D) All of these

A food chain starts with :
(A) Nitrogen fixation
(B) Decay

(C) Photosynthesis

(D) Respiration

The pyramid of energy is :
(A) Always upright

(B) Always inverted

(C) Upright and inverted
(D) None of these
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36. In an ecosystem decomposers include :
(A) Bacteria and fungi
(B) Only macroorganism
(C) Virus
(D) Protozoan
37. The place where two major communities
meet and blend together is called :
(A) Ecotone
(B) Population
(C) Biome
(D) Territory

38. Present rate of growth of human population

(in India) is about :
(A) 2%
B) 1.2%
(©) 1.13%
(D) 3.5% per year
39. Ratio of female-male in India is :
(A) 550:1000
(B) 750 : 1000
(C) 948 : 1000
(D) 1000 : 1000
40. Ozone layer destroyed due to :
(A) CFC
B) CO,
(C) NH,4
(D) so,
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41.

42.

43.

44.

45.

Which of the following is a major Green-
house Gas ?

(A) Nitrogen oxide
(B) Sulphur dioxide
(C) Carbon dioxide

(D) Carbon monoxide

In which village Chipko Movement was
started ?

(A) Khurja
(B) Reni
(C) Kaithal
(D) Rani

Which of the following is best method from
environment point of view ?

(A) Reduce
(B) Recycle
(C) Reuse

(D) All of these

Which of the following is a renewable
resource ?
(A) Petrol
(B) CNG
(C) LPG
(D) Water

Acid rain is caused by :
(A) SO,, SO,
(B) SO,, NO,
(C) CO, NH,4
(D) SO,, NH,4
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46. Floods can be prevented by : 46. G 9 TG BT WIHT T

(A) Afforestation (A) FHERTo
(B) Removing top soil (B) SR TRI I BT
(C) Deforestation (C) =i Ht FerE
(D) Agriculture (D) =i
47. Sustainable development goals are : 47. SRy fawm @iea fhaa € 2
A) 19 A) 19
B) 17 B) 17
(©) 20 (©) 20
(D) 15 D) 15

48. Which one of the following is not a gaseous 48. ffafem & ¥ s T S9

biogeochemical cycle ? &—Wﬁiﬁﬂ%qﬁ% ?
(A) Nitrogen cycle (A) TTEISH =%
(B) Carbon cycle (B) & =
(C) Oxygen cycle (C) ARSI =I5k
(D) Phosphorus cycle (D) HITHRE =
49. Biogas contains mainly : 49, ETE H YA Bl ©
(A) Monoxide (A) AHIATFEE
(B) Ethane (B) 399
(C) Propane (C) 9
(D) Methane (D) Hem
50. Dodo is : 50. ST
(A) Exotic species (A) facef g=ifa
(B) Endangered species (B) @Y™ YA
(C) Rare species (C) gAY yeifa
(D) Extinct species (D) faeqa gsifa
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S1.

52.

53.

54.

SS.

Yellowing of Taj Mahal is an effect of :
(A) NO,

B) CO,

(C) SO,

(D) CO

What was the theme of World Environmental
Day, 2021 ?

(A) Ecosystem restoration

(B) Restore our earth

(C) Connecting people with nature

(D) Seven Billion Dreams

World Environment Day was celebrated for

the first time under which slogan ?
(A) Only one future for our children
(B) Only one earth

(C) A tree of peace

(D) Gift to the earth

What is the main cause of soil erosion ?
(A) Industrialization

(B) Deforestation

(C) Earthquake

(D) Roads construction

The name of India derived from which river ?
(A) Indus river

(B) Ganga river

(C) Brahmaputra river

(D) Sutlej river
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56.

57.

58.

59.

60.

The greatest diversity of animal and plant
species occurs in :

(A) Equatorial forest

(B) Desert and Savanna

(C) Temperate deciduous forest

(D) Tropical moist forest

The reason of pollution is :
(A) Population explosion
(B) Urbanisation

(C) Industrialisation

(D) All of these

Formation of ozone hole is maximum over
the :

(A) China
(B) Antarctica
(C) USA
(D) India

BOD stands for :

(A) Biotic oxidation demand
(B) Biological oxide demand
(C) Biological oxygen demand

(D) Biochemical oxygen demand

Cement factory labourers are prone to :
(A) Leukemia

(B) Bone marrow disease

(C) Asbestosis

(D) Cytosilicosis
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61.

62.

63.

64.

6S.

Noise is measured using sound meter and
its unit is :

(A) Hertz

(B) Decibel

(C) Joule

(D) Soul

Which of the following is the primary cause

of water pollution ?
(A) Industries

(B) Fertilizers

(C) Human activities

(D) All of these

Air pollution effect of :
(A) Respiratory problems
(B) Soil erosion

(C) Solid waste

(D) None of these

CNGisa:

(A) Polluted fuel
(B) Clean fuel
(C) Harmful fuel
(D) Solid fuel

Air quality indicator is :
(A) Lichen
(B) Moss
(C) Algae
(D) Grass
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66.

67.

68.

69.

Which country is popularly known as land

of the windmills ?
(A) Netherlands
(B) Poland

(C) Norway
(D) India

What is the instrument used to detect
earthquakes ?

(A) Radiometer

(B) Barometer

(C) Seismograph

(D) Radiograph

Which one of the following is a total
parasite ?

(A) Rizobium

(B) Cockroach

(C) Lichens

(D) Cuscuta

What is the unit in which radioactivity is

measured ?
(A) Curies
(B) Roentgen
(C) Decibel
(D) Joule
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70. The headquarters of UNEP is at :

71.

72.

73.

(A) New York
(B) Geneva
(C) Nairobi
(D) London

Which of the following is not a biomedical

waste ?

(A) Animal waste

(B) Microbiological waste
(C) Chemical waste

(D) Domestic waste

Why is it difficult to recycle plastic ?
(A) TItis very hard

(B) It comes in different size

(C) Itisadhesive

(D) It contains different types of polymer

resins

Which of the following wastes is called the
Municipal Solid Waste (MSW) ?

(A) Food waste

(B) Wood pieces

(C) Plastic cane

(D) All of these
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74.

75.

76.

77.

Which of the following methods is better for

the solid waste problem ?
(A) Recycling

(B) Land filling

(C) Both (A) and (B)
(D) None of these

The natural place of an organism or
community is known as :

(A) Niche

(B) Biome

(C) Habitat

(D) Habit

Which ecosystem has the maximum
biomass ?

(A) Pond ecosystem

(B) Forest ecosystem

(C) Grassland ecosystem

(D) Lake ecosystem

Who is known as the father of Indian

Environmental Science ?
(A) Bhishma Sahni

(B) Ramdeo Mishra
(C) Ram Mohan Rai
(D) Amrita Devi
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78.

79.

80.

81.

Which one of the following is medicinal
plant ?

(A) Cinnamon

(B) Neem

(C) Holibasil

(D) All of these

Which major tech-company recently
announced that is has planned to cut more
than half of carbon emission across its supply

chain by 2030 :
(A) Google
(B) Microsoft
(C) Infosys
(D) IBM

The National
Management (NIDM) was established on :
(A) 23rd September, 2002

(B) 14th August, 2001

(C) 16th October, 2003

(D) 14th August, 2004

Institute of Disaster

Which one of the following is not a natural
disaster ?

(A) Volcano eruption

(B) Flood

(C) Blowout

(D) Tsunami
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78.

79.

80.

81.

o o~

frefafed § 9 s gien st dien g 2
(A) T

(B) T

(C) Terst

(D) 39t

fohe Y@ 2 P 3 A & H o oh
o 35 2030 T 3TOHT IR Seren § =8
Y Afees HeA S § KT T AT
S T 2

(A) e

(B) TiEshiET

(C) Thife™

(D) TS

TSI STMIST YaI-e T (NIDM) b TITeHT
TS ot

(A) 23 faasr, 2002

(B) 14 37T, 2001

(C) 16 3%, 2003
(D) 14 3T&d, 2004

frafafea & ¥ FFHE T THfaw smag
T ?

(A) SHITE STHEA

(B) =g

(C) =rsT=e

(D) Gt
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82.

83.

84.

8S.

86.

‘Tsunami’ word is derived from which
language word ?

(A) Greek

(B) Devnagri

(C) French

(D) Japanese

What type of soil is present in Gangetic
basin ?

(A) Arid soil

(B) Alluvial

(C) Sedimentary

(D) Clay soil

Where is located Silent Valley National
Park ?

(A) Odisha

(B) Kerala

(C) Tamil Nadu

(D) Best Bengal

Who is known as father of Indian Green
Revolution ?

(A) V.Kurian

(B) C. Subrahmanyam
(C) M.S. Swaminathan
(D) Periyar

Which of the following States is having the
largest number of tiger reserves ?

(A) West Bengal

(B) Andhra Pradesh

(C) Madhya Pradesh

(D) Karnataka
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83.

84.

8S.

86.

‘AT s R AT B T A TR 2
(A) T

(B) oA

(C) %=

(D) St

T S H e YRR i TeT arE S © 2
(A) =R 7

(B) #=R

(C) @

(D) foest fogt

TIgeie Aot Fe T el Teed § ?
(A) Serard

(B) & H

(C) dferg

(D) ufy=w swmer #

TR e Shifd & S HiF FHead © 2
(A) @t |

(B) . goRwaH

(C) TH.TH. WHHIEA

(D) I

frefafea & 9 oF9 T 8§ aifas gen
H 2R foeda § ?

(A) TfT=H I

(B) 379 Uo¥T

(C) A& W91

(D) FAteH
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87.

88.

89.

90.

91.

Which is the lightest gas of the environment ?
(A) Nitrogen

(B) Hydrogen

(C) Carbon dioxide

(D) Oxygen

Which ministry issues draft of ‘National
Clean Air Program’ (NCAP) ?

(A) Ministry of Home

(B) Ministry of Labour

(C) Ministry of Environment
(D) Ministry of Defence

DDTisa:

(A) Non-pollutant

(B) Non-biodegradable pollutant
(C) Biodegradable pollutant

(D) None of these

Where did the first move toward sustainable
development occur ?

(A) Stockholm Conference

(B) Conference in Bangkok

(C) Conference in New York

(D) Conference in Delhi

Modern concept of sustainable development

focuses more on :

(A) Economic development
(B) Social development

(C) Environment development
(D) All of these
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87.

88.

89.

90.

91.

TSR Tt HIY Rt TG HIH § 2
(A) TEZIeH

(B) TESISH

(C) 1o SEATFEE

(D) AT

T W=9 919 &E%d (NCAP) foa
AT gRT SR foRanm T 2

(A) & wATer

(B) 99 T

(C) TR HATTH

(D) Y& HATE

gy Ry i M

(A) R-FgR
(B) ASETTHIEh0T TGoh
(C) SafT=erToia Tgueh

(D) 379 9 HIE &

T faehTa 1 STREY A9 el gol o ?
(A) iREH THAT

(B) Sihleh T

(C) =gl T

(D) feoett s e

T s 1 sy g Sfsa §
(A) =i o

(B) wmifSeR foeprd

(C) "ataRe o

(D) = 9t
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92.

93.

94.

9s.

96.

Abiotic components include :
(A) Atmosphere
(B) Hydrosphere
(C) Lithosphere
(D) All of these

Which of the following steps of Nitrogen
cycle is not useful for plant ?

(A) Ammonification

(B) Nitrification

(C) Denitrification

(D) Both (A) and (C)

Symbiosis relationship in which only one
organism is benefited is :

(A) Symbiosis

(B) Commensalism
(C) Mutualism
(D) Unism

The area of environmental education
mcludes :

(A) Formal education

(B) Non-formal education

(C) Formal and non-formal both
(D) None of these

In which year joint forest management was
introduced ?

(A) 1970
(B) 1971
(C) 1980
(D) 1983
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96.

sifoes o2 B e © ¢
(A) ArgATSA

(B) SieHTESA

(C) LTHTS A

(D) & |t

AIESISH =k o1 fAfafed | 9 Siar =)o
it o fere Syantt e ® ?

(A) STHMHI

(B) TEZehm

(C) farmediTm

(D) (A) 3R (C) S

Tesitaq S8 Shael T Sie enerf-ad g
¥

(A) Hesitad

(B) ¥

(C) IrEafie

(D) Terar

TTeRoT fYTet BT &7 T

(A) it farem

(B) STAro=niak forem

(C) STu=Tiier Ta SHI=e Sl

(D) 374 9 HIE &

T a1 Ja fohe s sy foRan T 2
(A) 1970
(B) 1971
(C) 1980
(D) 1983
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97. Which one of the following city got India’s

first cleanest city award in 2021 ?
(A) Mysore
(B) Indore
(C) Surat
(D) Delhi
98. Full form of SBM :
(A) Saf Bharat Mission
(B) Swasth Bharat Mission
(C) Swachha Bharat Mission
(D) None of these
99. In which place ‘Clean India Mission” was
officially launched ?
(A) Nasik
(B) Rajghat Delhi
(C) Kolkata

(D) Sabarmati Gujarat

100. Who among the following was associated
with Bishnoi movement (Khejadly) ?
(A) Amrita Devi
(B) Gaura Devi
(C) Shanti Devi
(D) Govind Singh
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97. fafed 5 9 A e YRGS Gl

T TS R (2021 ®) AFI TN E ?
(A)

(B) IRR

(C) §xa

I)RE

98. TH.SI.TH. T IO A T
(A) 9% YR AfqEH
(B) @& WRA AfHamH
(C) =5 YR AR

(D) 379 9 HIE &

99, ‘@5 WRA e’ ® sifueRie €9 |
o T | ey fohan o o ?
(A) e
(B) Tsme fooet
(C) wicTehTal
(D) TSR TSR

100.f=fafed & & w@ faweE  em<em
(SsrEet) 998 &4 ?
(A) sma <ot
(B) IRT <t
(C) Imfa <ot
(D) Tifa= fog
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